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1.
Two moles of ideal gas at 10 atm and 500°K expand isothermally to 2 atm.  Find ∆S for the gas if

a)  the expansion is reversible

b)  the expansion results in no work being performed.  (However, the same state is, reached).

2.
How much work can be obtained from 1000 Joules of heat coming from a source at 527°C if the lowest temperature heat sink available is at 77°C?

3. One mole of ideal gas at 1000 K is isothermally compressed from 3 atm to 8 atm while exchanging heat with a heat sink at 800 K.  Find the final ∆S for the 

a) gas and

b) heat sink.

4. Find the configurational entropy change when 30 gmoles of liquid mercury mix with 70 gmoles of liquid gallium.

